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QUESTION 1

An Enterprise Vault administrator intends to secure IMAP connections using SSL.
What are two requirements for the SSL certificate? (Select two.)

A. A certificate signing request (CSR) must be sent to Veritas VeriSign.

B. The certificate must be in PEM format.

C. It must be a Subject Alternate Name (SAN) certificate.

D. The certificate must be Base64 encoded.

E. The certificate must be in p7b format.

Correct Answer: BD

QUESTION 2

Which two user configuration choices are available within the Preferences menu of Enterprise Vault Search (EVS)?

(Select two.)

A. Configure multiple mailboxes to access for searching

B. Select the position of the reading pane or turn it off

C. Enable Hit Highlighting and specify the color

D. Choose custom company logo to display in the results page

E. Add additional sidebars for other archiving targets such as File System Archiving

Correct Answer: BC

QUESTION 3

Which two events modify a closed partition? (Select two.)
A. archived content is added

B. archived content expires

C. collections are enabled

D. partition rollover occurs and another partition is closed
E. a backup is performed of the closed partition

Correct Answer: BC
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QUESTION 4

An administrator wants to implement Virtual Vault for several hundred users of the Enterprise Vault Outlook Add-in The
users run Outlook on stationary desktop workstations with a wired, persistent connection to the network. The
workstations have very little local storage available, and the administrator wants to enable Virtual Vault while minimizing
the storage impact on the workstations.

Which Desktop Policy configuration should the administrator use?

A. Vault Cache enabled with content strategy "Do not store any items in cache”

B. Vault Cache enabled with content strategy "Store only items that user opens\\'

C. Vault Cache disabled

D. Vault Cache enabled with content strategy "Store all items"

Correct Answer: D

QUESTION 5

How can an administrator make the \\V'Search Vaults\\' button in Outlook available to users?
A. use the Exchange desktop policy, \\'Options\\' tab

B. use the Search Provisioning Group

C. use the Exchange mailbox policy, WOptions\\' tab

D. use the IMAP Provisioning Group

Correct Answer: D
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